. on—SHEgE

PARTS LIST

o590 oM
XG555DM
XG5955LDM

atex



RHULNo

I - - R R I o T I I e A R R R R R N

Fr—Ry I XEREDI)
F—Ry Y RERED2)1/2

X —Ry Y RE&RED2)2/2
Fy—Ry I RBER(FDI)
Fy—Ry I RBER(F D)

X —Ry o XBER(ZED5)
L — LB (FD1)(XG555M)
L— L& (Z7D2)(XG555DM)
7L —LBEZR(ZF®D3)(XG555LDM)
IL—LEFREDA)OPT

7+ 7—LER

)by F %R

— S AR (FD1-1)(XG555M)
— S AB8{% (F D 1-2)(XG555M)
— S A BE& (FD2-1)(XG555DM)
— 5 A BE% (FD2-2)(XG555DM)
— A A BE{% (£ D3-1)(XG555LDM)
— S A% (F?D3-2)(XG555LDM)
< IV ZRED1)LDEB)

T IR (FED2)(XG655M, DM)
T IJ YRR D2)(XG555LDM)

A0 9-> A7 % (ZMD1)(XG555M-DM)

A2 Y- A7 9% (Z®D2)(XG555LDM)

A0 9- a7 7% (Z®D3) OPT(XG555LDM)

Z95F LR AR R (FD1) (XG555M-DM)
ZI93A LR AR (FD2) (XG555LDM)
ETERERZRED)

ETEEBRRKR(ZD2)

IVOUBRREDT)

IVOUBRRED2)

IO UB&R(FM3-1) OPT(XG555M-DM)
IR (FM3-2) OPT(XG555M-DM)1/2
IR (FM3-2) OPT(XG555M-DM)2/2
IO UB&R (FMD4-1) OPT (XG555LDM)
IO BRZEMD4-2) OPT (XG555LDM) 1/2
IO UBRZMDA4-2) OPT (XG555LDM)2/2



RHHULNo

© © © ©

10.
10.
10.
10.
11

11.
11.
11.
11.
11.
11.
11.
11.
12.
12.
12.
13.
13.
14.
15

15

15.

~R—UNo
EERBFZRGEDT) esesssssssssssssssssasass 36
EERBFRGED2) esesssssssssssssssssasass 37
EEBRFZR(EFDNDI) esesssasssssssaasassssaas 38
EERZR (FMD4)(XG555DM=LDM) = ssesssssssssssssssssssaas 39
AT7VYIFBEHMR(FD1)(XG555DM) 00 sessssssssssssssssssssass 40
AT7VYIFBENR (FD2)(XG555DM) 0 sessssssssssssssssssssass 41
ATV IFER(ZDI)(XGES5LDM) e 42
ATV IFER(ZDA) (XGES5LDM) e 43
ATV IFER(ZDE)(XGEE5LDM) e 44
BAE-DN—BAR(FD1)NAUNIL  sesesasasasasasasasaaaaas 45
BAE-AN—BR (FD2D)HANITYF eeeerrssasssaaaassaaaaaas 46
BAE-HN—BIZR (FDI)FIUY LN = 0 seessesssssssaasaassanaas 47
BAE-DN—BAR(FDA)TYNTIY 0 sesesasasasasasasssssasas 48
BAE-HN—BIZR(FDE)H=7)  seessesssssssassssssasaas 49
BAE-HN—BBIR (FM6)(XGE55M) 0 seeessasasssasssssaaaasas 50
BAE-DN—BRIR (FDT)(XGE55DM)  seeerrasssssasssssaaaanns 51
BAE-HN—BIR (FM8)(XGE55LDM)  seeerrasasssasssssaaaanns 52
BAE-AN—BR (FDONTYE  eeeeerssasssasaassaaaaaas 53
O—REIROPT(FM1)(XG555M) = sesssssssssssssssssnssnns 54
O—REHIROPT(FM2)(XG555DM)  sessssssssssssssamsnnsnns 55
O—hBAfROPT (£ M3)(XGE55LDM)  seerresssasasaiinaeaa 56
T—IBR(FD1)1/2 eeesssssssssssssssssaaaas 57
T—IBR(FM1)2/2  eessssssssssssssssssaaaas 58
FEREEE 00 eieeesssssssssssssssaaeass 59
H—EREE(FDNDFAHEELT W cereeeeeessssssssaaaaaaass 60
ﬂ_ﬁ‘xﬁ*4(%o)2)7\7°b_;__%*+ ......................... 61
H—EREHOPT(FNI)EEE = weeeeeeesssssssssssaaaaas 62

OFEEEI—FIZDIVT
BEI—FT2#1(O000-000-000-00: 00 [FZEEBI—FERLTLET,
1) :08—Z—n"—Lyk
2):28——2f45
3):29—F4MY=Y



1. XY —Ry I REHRED1)

75 Hma—k B dm & ¥ Bk & = /NSEE i
1 0386-111-200-0 2993U(XG555)ASSY 1

2 0339-181-211-1 yvavh—AL) 1

3 0339-181-221-2 2yv3vh—-AR) 1

4 V720-101-900-6 oyvy P6 1

5 0339-181-212-0 759Y K ILAM6X12-10.9 1

6 3740-111-030-0 7952090 A 2

7 V720-101-901-0 oNvy P10 2

8 3614-101-005-0 TANIXT 7Y 2

9 0386-110-211-0:28 74 —h"—F 1

10 0339-181-231-0 759Y K L FM8X90-6.8 3

11 0339-181-233-0 7559 K IVEM8X115-6.8 4

12 0664-411-012-0 7599 FyMM8) M8 7 7T
13 0339-181-234-1 7559 K WEM10X150-6.8 2

14 0339-181-235-0 759Y"+9M10-4.8 2

15 0386-120-011-6 :28 T/MM)Y5AT—(R) 1

16 0386-120-012-0:28 7 L—%7{¥AT— 1

SEBIE, (FDONFE2~(ZFDHEET,



1. Fv—Ry o RB&R (FM2)1/2

f"E B ama—k BB fn 4 5 EE g INTE B
1 0386-110-011-1 =L LDEVMZ Y] 1
2 V744-120-400-8 A=l TC20408 1
3 1122-280-018-0 R.B.B(6004) 1
4 0386-110-220-0 U484 v —(29-23)COMP 1
5 0339-181-303-1 Y h7r(18X22X10) 2
6 0339-181-252-0 DyY%(18X30X2) 1
7 V704-140-018-0 CHabAIC ) 18 1
8 0386-111-210-0 F10% '+ ¥COMP 1
9 1122-280-013-0 R.B.B(6202) 1
10 0339-181-281-1 VZ 2L 1
11 1122-280-015-0 R.B.B(6203) 2
12 0386-110-013-0 h%U45% %(30) 1
13 0339-181-283-0 Hh7—(18X25X31) 1
14 0339-181-284-0 h9U4% % —(10X20) 1
15 0339-181-285-0 Hh5—(18X25X25.2) 1
16 0339-181-286-0 4% v —(38) 1
17 0339-181-287-0 Hh7—-(18X25X4.3) 1
18 0339-181-301-1 XGHN I8 0489470 1
19 1122-280-017-0 R.B.B(6302) 1
20 0339-181-302-1 Hh7—(18X28X6.4) 1



1. FVv—Ry I RBR(ZFD2)2/2

"E Hama—F BB Sm A Fh Ik g /NFEEA
21 0386-111-220-0 h9U48% ¥-COMP 1
22 0339-181-303-1 ¥ h97(18X22X10) 2
23 0339-181-252-0 799%(18X30X2) 1
24 V704-140-018-0 CHab ¢ ) 18 1
25 0339-181-308-0 Hh5—(20X25X3.7) 1
26 V704-140-020-0 ChH 4k A9 Y) 20 1
27 0386-110-012-0 NYIHIUA% %(35) 1
28 0339-181-305-0 H5—(20X25X15.6) 1
29 0386-110-017-1 NYHE %(30) 1
30 0339-181-307-0 NYIhIUA% H—(15) 1
31 1122-280-012-0 R.B.B(6003) 1
32 V744-117-300-7 =N TC17307 1
33 0386-110-024-1 $48979F % 7MXG) 1
34 1122-280-015-0 R.B.B(6203) 2
35 0339-181-322-0 4% ¥ —(XGH) 1
36 V705-140-037-0 CHabAI(T ) 37 2
37 0386-110-022-0 979F% ¥—(XQ) 2
38 0386-110-023-0 A7Y9'(HC38) 2
39 0386-110-331-0:28 7' L—%A4L(XG) 2
40 0339-181-332-1 Oy49770% K ILkM8X18 5
41 8935-056-025-0 1),4(20) 2
42 0339-181-333-0 :28 1J4—YSP7v4 1
43 0359-110-025-0 0Y9ah 48 L 8X25 1



1. FY—HRy I X HREDI)

i s H@ma—F BB Em A #h Bk B = IN5E (il
1 0339-181-341-1 Y9399 747-L(XGH) 2
2 0343-110-014-0 Y939 787 —LE"Y 2
3 2703-101-020-0 YI4h5- 4
4 3740-111-029-0 Y4 H979F7° vy 2
5 0472-110-012-0 :28 #4F479F7—A(L) 1
6 0472-110-013-0:28 #4F45YF7—AL(R) 1
7 3517-501-002-1 979FhANEY 1
8 V500-163-002-0 ey 3X20 1
9 0386-110-021-0 F1oY Y7y M (XG) 1
10 0339-181-352-0 FIU¥ VI8(XGH) 1
11 V710-140-010-0 EN4hAT 10 2
12 0439-110-021-1 YI8R7UY 1
13 V680-200-001-0 AF-IiR - 5/16 1
14 0339-181-361-0 XGHY7Mr—2A 1
15 V744-116-300-7 HA-l TC16307 1
16 3560-102-029-1 Favaty 1
17 0339-181-362-0 770V K L hM8X25-6.8 4
18 0339-181-380-0 F1%'7—-LCOMP 1



1. FY—Ry I XERE D)

75 EHema—k B s R B g = /N5 B i
1 0339-181-401-0 HMNEYIhT— 1
2 0339-181-402-0 FMIE ¥—(XGH) 2
3 1122-280-016-0 R.B.B(6206) 2
4 0386-110-016-1 HANY%TN5E53) 2
5 0386-110-270-0 :28 &4ILin'{7°COMP 2
6 1122-280-019-0 R.B.B(6006) 2
7 V707-140-055-0 AT (TH) 55 2
8 1341-735-001-0 VVESE N 2
9 0339-181-405-0 ay9759Y & ILM10X25 8
10 0337-110-051-1 7 L—Fnyxy 1
11 0337-110-500-1 7' L—%(62)ASSY 1
12 V704-140-014-0 CH 4 )) 14 1
13 0339-181-391-0 7799 K ILAM8X16-6.8 3



1. Fv—Ry I B REDS)

s EB&ma—Fk BB e 1 EE & /NSE B (i
1 0386-120-013-1:28 H4NH59FI(¥AT— 1

2 V211-361-002-5 I 4K IWMSP) M10X25 4

3 0353-131-015-0:28 KA N'174HI(64) 2

4 V201-461-002-5 my Y W M10X25 4 9T
5 V401-160-010-0 SW 10 4

6 0386-120-210-1:28 F1vy'7—LCOMP 1

7 V411-200-016-0 IESIR 16 1

8 4175-402-004-0 7-YEYhR b 1

9 0386-130-011-0:28 HMINAZ BAYH 2

10 0354-120-013-0 A7 B MR 2(B) 2

11 3051-102-009-0 NN AR R 2

12 V401-160-008-0 SW 8 6

13 V201-460-802-0 4R WE M8X20 8 9T



2. 7L—LBEZRED1)(XG555M)

© 00 N> Gl W =

EHa—FK BB En B Fh Ik g = /NFEE
0386-211-200-2 :28 7L—L(555)COMP 1
0340-301-006-0 AMYNTYHE Y 1
V300-260-012-0 FYk M12 2
V411-260-012-0 LW 12 2
V401-160-012-0 S.W 12 1
0353-252-012-0 T LAN—4(280) 1
0353-211-012-0 :08 44LF A7 1
V410-260-012-0 INAY % 12 2
V303-260-012-0 ) 5 ] M12 2



2. ZL—LER(EZD2))(XG555DM)

f"E EH&ma—Fk BB 4 R EE g = INFEE
1 0386-216-200-2 :28 7L—L(555D)COMP 1
2 0450-301-011-0 77979120 2
3 0452-210-250-0 54K %Y1 LCOMP 2
4 3782-131-014-0 o497 2
5 V362-260-008-0 INAYIN RYEFYE 191 M8 2
6 0353-211-011-0:28 &V7H—F 1
7 V211-360-802-0 I 4R WMSP) M8X20 2
8 V363-260-008-0 AN AYIN RYEFYE 291 M8 2
9 0353-211-012-0:08 4ALFANA7 1
10 V410-260-012-0 IR 12 2
11 V303-260-012-0 my) 5 ] M12 2



2. 7L— LR (ZMD3) (XG555LDM)

"qE HBEmaI—F Hman Ik g & /NFEE
1 0386-217-200-3 :28 7L—L(555LD)COMP 1
2 0450-301-011-0 77979120 2
3 0353-211-011-0:28 ®V7h—} 1
4 V211-360-802-0 a0 4R WMSP) M8X20 2
5 V363-260-008-0 Ry KD SNWSES D] 291 M8 2
6 0353-212-012-0:08 Y4 Akyn 1
7 V273-360-802-0 FAYK WMSP) 291 M8X20 1
8 0382-610-012-1 R =WACT) 1
9 0344-210-011-2:28 %y7°hh 2
10 3731-551-008-0 FY-191n % 4
11 V211-260-801-6 A4 WNS) M8X16 4



2. ZL—LER(ZD4) OPT

"qE Hma—k HaA =k B & /NFE B
1 0386-213-200-0 ALV (555)SET 1 OPT

2 0386-213-201-0 :28 7°L—F(38X50X4.5) 2

3 V201-460-802-5 IN 4 IWE M8X25 4 9T

4 V401-160-008-0 S.W 8 4

5 0771-310-012-0 Jv4(20)vA 4

6 V300-460-008-0 F9b M8 4 7T

SEHFX,. FB2~6%FET,

_‘]0_



2. )7+ 7—LB81% (XG555LDM)

A
o\

75 H&ma—k BB T EE g % INFEE
1 0311-240-200-2 :28 A{Y7-LCOMP 1

2 1122-280-027-0 R.B.B(6304DDU) 4

3 V704-140-020-0 CH4r A0 ) 20 4

4 0375-110-025-0 79%1(2015) 4

5 0344-250-011-1 MIT=LVTI9h 1

6 V201-460-802-5 ) K TN M8X25 1 9T
7 V304-260-008-0 Inayk 291 M8 1

8 0353-240-200-1:28 #77—ALSET 1

9 0315-303-005-0 T-LtVsE™Y 2

10 V411-260-020-0 MR N2 20 2

11 V500-165-003-0 ey 5X30 2

_11_



2. YRV F 8% (XG555LDM)

K3
Al

Ema—k

& & A 5

- o
T RGeS D©®Womue RN =

N — = = =
O © oo d o

0353-241-200-2
0353-241-011-0
V411-260-012-0
1305-241-001-0
8935-005-031-0

0386—241-200-0
0386-241-012-0
V304-260-012-0
V411-260-010-0
0386-241-011-0

0320-403-013-0
V304-260-008-0
0353-241-230-2
3761-242-017-0
0386-241-210-0

0353-241-250-0
V201-260-803-0
V411-260-008-0
1122-725-012-0
8935-004-048-0

28

:28

128

128
:08

$Jh1799COMP
E"(12X140)
IELWIEd
FNAIAT-EY
hn'-sSpP

$1)hzAyr (555LD)COMP

Ayh(L/12X125)
I sk
Y4

FUhILIN —T—L(555LD)

IR THEI RS
WU

21 M12
10
25X12

291 M8

FJhILN—(LD)COMP

Ln-Z%7)

7949~ =2(555LD)COMP
FJhILIN-79HCOMP

Ih 4Lk
IELWIEd
UtyMMm8)
hn'-sSP

M8X30

_12_

1
1
1
1
1

_ A N =

[ ey



3. ZF AR (ZFD1-1)(XG555M)

#B i 2 #

e H&mad—F B B = /NFEE i
1 0386-252-200-1:29 =4'4{(555)COMP 1
2 0353-251-012-0 YTUR WM16X50) 2
3 V411-260-016-0 IELWIEd 16 2
4 0353-250-012-0 UtrvyrM16) 2
5 8935-001-064-0 939E°YSP 2
6 V271-160-802-0 FADR WE 291 M8X20 2
7 0353-251-320-0 :29 4 —}794(500W)COMP 1
8 0353-251-031-0 E"(12X460) 1
9 1305-241-011-0 HRNAYAT-E"Y 2
10 0353-251-011-1 HAA4799098 (W) 1
11 8935-058-026—0 SPYTH % 2
12 V304-260-010-0 y) 5 ] 2%1 M10 6
13 V411-260-010-0 LW 10 3
14 V500-162-502-0 Y 2.5X20 1
15 0343-251-220-1 AYFtXh *COMP 1
16 0340-301-005-0 F-ravsSP 1
17 V201-261-003-5 I 4ERIWE M10X35 1

_13_



3. ZF AR (ZFMD1-2)(XG555M)

i
Al

B ma—k

_‘]4_

o1 G Ik i /N5E B
1 0402-201-011-1 NNV T 27 1
2 0353-252-210-0:29 4Y7'LnN'—COMP 1
3 0353-252-011-0:29 BvHYA7 U9 I 1
4 8935-004-048-0 hn'-Sp 1
5 V201-260-805-0 ) T AN M8X50 1
6 V362-260-008-0 INAYIN RYEFYE 171 M8 1
7 V303-260-008-0 ) 5] M8 2



3. A AB81& (FM2-1)(XG555DM)

-
'> Q
A O
O
%)
qE Hma—k BB Fh Ik B = /NFEEA il
1 0386-253-200-1:29 =44(555D)COMP 1
2 0344-250-011-0 MIT-LYTIVY 1
3 V201-460-802-5 IN 4RIk M8X25 1 9T
4 V304-260-008-0 anaFyk 291 M8 1
5 8935-001-064-0 H399E°VSP 2
6 V271-160-802-0 FIuR b 291 M8X20 2

_15_



3. —FM/B1& (FM2-2)(XG555DM)

s Eama—F BB & & 1 kS i /N5 B fifh
1 0353-257-300-0:29 % —}794(500DW)COMP 2
2 0356-301-003-0 21939y TUEY 2
3 1305-241-001-0 KANIAVAT-EY 2
4 0452-250-240-0 Ay (200)COMP 2
5 8935-042-034-0 YYhin'-h4A{SP 2
6 V411-260-010-0 HIED WIS 10 2
7 V500-162-502-0 EY 2.5X20 2
8 V300-260-010-0 TUb M10 4
9 0353-257-210-0:29 H{A{Y77L—NL)COMP 1
10 0353-257-220-0:29 H4A{Y77L—NR)COMP 1
11 V211-360-801-6 I 4K IWMSP) M8X16 4

_‘]6_



3. ZHF A% (Z£M3-1) (XG555LDM)
7
>>=>
75 Eama—k BB fh % E% g & /NSE R
1 0353-255-700-1 :29 =4°4(510LD)COMP 1
2 0353-212-011-0 704 %h =+ 1
3 0325-203-004-0:29 #77-LYTuiH#I 2
4 V401-160-008-0 S.W 8 4
5 V201-460-802-0 iy 1A N M8X20 4 9T
6 0353-255-710-0:29 Y7Mr—7" Li'—F COMP 1
7 V211-360-801-6 IN 4K IWMSP) M8X16 2
8 8935-001-064-0 H399E°SP 2
9 V271-160-802-0 FAR Wb 291 M8X20 2

_‘]7_



3. 5 A& (FM3-2) (XG555LDM)

fTE Ema—k B a4 5 EE & /NFEEA
1 0344-255-200-0 ' =tawH7—L(L)COMP 1
2 0344-255-210-0 ' =tayH7—-L(R)COMP 1
3 0365-303-001-0 TIIYTIE Y 4
4 1305-241-001-0 HANAYAT-E"Y 4
5 0353-256-600—0 ¥’ —bayy7—LCOMP 2
6 V411-260-008-0 L WIEd 8 8
7 0375-255-011-0 7994903 2
8 V500-162-502-0 ey 2.5X20 6
9 V411-260-012-0 L WIEd 12 4
10 0353-256-031-0 =y 7-Ly+E 2
11 8935-042-034-0 Y hn-h4A{SP 2

_‘]8_



4. TITIUBEZR(ZD1)(XG555M-DM)

fama—k 0 &h % #1 Bz g #& /NS B fif

23
Al

0353-261-300-1 :29 ¥I7%(500W)COMP
0347-262-200-0 :29 H4A47—L(L)YCOMP
0347-262-210-0 :29 H4A{7—L(R)ICOMP
0771-130-012-0 1AM A7H98FYMM10)
3911-550-015-0 $I#(10)

V271-160-802-0 FIADK Wb 21 M8X20
0437-277-201-0 :29 YADIYTIA4

0437-277-200-0 :29 YA TYCOMP

V201-261-003-0 By T M10X30
V362-260-010-0 NIV R Fb 1%21 M10

0437-277-011-0 :29 YTU44AN -4

0437-277-012-0 DY -bon—(L)
0437-277-013-0 DYh - —(R)
0412-204-003-0 NANYTUHR Wb
V411-260-010-0 LW 10

0412-204-004-0 urvyMM10)

JRIFI7E10~4

JAYFIE10~4

—_ e e - -
S RGeS DOWOmu NN =
N AN = = N DN AN DDN AN = =

—_
(=]

_‘]g_



4. TRITIUBE R (ZD2) (XG555LDM)

7B Eegma—k @A Bz g Z /N5 B i
1 0353-263-360-2 :29 ¥I74(510LD)COMP 1

2 0347-262-200-0 :29 H1A{7—L(L)COMP 1

3 0347-262-210-0 :29 #H4A{7—L(R)COMP 1

4 3911-550-015-0 #I31%(10) 4

5 0771-130-012-0 1IN A798+YMM10) 2

6 V271-160-802-0 FATHRWE 241 M8X20 2

7 0437-277-200-0 :29 %YA74YF7YCOMP 2

8 V201-261-003-0 my KT M10X30 4

9 V411-260-010-0 L 10 4

10 V362-260-010-0 Ry KU SN OES D] 12 M10 4

11 0437-277-011-0:29 SFU{9AN Y 4 2ARYFIVEA0~4
12 0437-277-012-0 Y —bon—(L) 1

13 0437-277-013-0 Y-k -(R) 1

14 0412-204-003-0 DANYTUR Wb 2

15 0412-204-004-0 UFryMMm10) 2

16 0437-277-201-0 :29 HYA7HYTu14 4 2ARYFIVEA0~4

_20_



5. 3a75-22 07V %R(Z?MD1)(XG555M+-DM)

14

T &6§/

7

S

13

7

® 13
14

4

— 16

75 HBma—F BB fn £ 5 Bk B = IN5E B
1 0353-261-350-1:29 3374510W(L)COMP 1
2 0353-261-360-1:29 337%510W(R)COMP 1
3 V704-140-035-0 CH 4 ) 35 4
4 8935-001-064-0 9399 SP 2
5 V271-160-802-0 FAYK I 21 M8X20 2
6 0353-261-400-0:29 "¥A74(W)COMP 1
7 V211-360-802-0 N4k WMSP) M8X20 3
8 V363-260-008-0 INAYIN RYETUR 291 M8 3
9 V211-361-002-5 N4k WMSP) M10X25 4
10 V363-260-010-0 INRYIN RYEFUE M10 4
11 0366-302-011-0 D9k A2 (S)L 1
12 0366-302-012-0 UUISESAC)2 1
13 V304-260-010-0 ) D] 2%1 M10 4
14 0386-260-011-0 9731 2
15 0353-265-300-1:29 vI7/H#4I(LDA)COMP 2
16 0453-200-220-0 =947’ SET 1
17 0432-204-240-0 :28 =791 {7°COMP 4

>HE16IE. HB1TEET,

_21_



5. 3377-2 A% (ZdM2)(XG555LDM)

75 H&ma—k e 0 EE g % INFEE
1 0353-263-370-1 :29 3374510LD(L)COMP 1
2 0353-263-380-1:29 3374510LD(R)COMP 1
3 V704-140-035-0 CH'4r A9 ™) 35 4
4 8935-001-064-0 9399 YSP 2
5 V271-160-802-0 FAYHK WE 291 M8X20 2
6 0353-263-400-1:29 %<07%(LD)COMP 1
7 V211-360-802-0 04K WMSP) M8X20 3
8 V363-260-008-0 AN GHIN RYEFYR 291 M8 3
9 V211-361-002-5 04K WMSP) M10X25 4
10 V363-260-010-0 YKL SNWOES D] M10 4
11 0366-302-011-0 D9k A% (S)L 1
12 0366-302-012-0 VIS EIAC) 2t 1
13 V304-260-010-0 I sk 291 M10 4
14 0386-260-011-0 hooFtU31 2
15 0353-265-300-1:29 IDY#4#I(LDA)COMP 2
16 0453-200-220-0 =09 47°SET 1
17 0432-204-240-0 :28 =741°{7°COMP 4

_22_



5. 337207 {%R (ZD3)OPT(XG555LDM)

"qE Hma—Fk B in R Fh Ik g = /N E
1 0386-281-200-1 TY)49(XG555LD)SET 1 OPT
2 0353-281-230-0 :08 LDvVY74(702+)COMP 1 OPT
3 0353-281-210-0:08 LDVY74(L)COMP 1 OPT
4 0353-281-220-0 :08 LDVY74(R)ICOMP 1 OPT
5 1122-735-011-0 /7" IWMM8 % 20) 2 OPT
6 0386-282-210-0 :08 ¥YJ9AT97°COMP 1 OPT

>HEEE, FE2~5%2ET,

_23_



6. —OAALKABZR(ZFMD1) (XG555M-DM)

K3
Al

ana—k Bl an % #1

INFEE

1 0386-263-200-0 :29 44L} #(555/L)COMP

2 0386-263-210-0 :29 474U} #(555/R)COMP

3 0354-264-012-0:29 44U AV 7°L—ML)

4 0354-264-013-0:29 44LNAYY'7L—MR)

5 1394-330-015-0 FIVY'LIN-SP

6 V411-260-012-0 eI 12

7 V704-140-012-0 CH4r A7) 12

8 V211-160-802-5 IN4F WMP) M8X25
9 V362-260-008-0 INAYINRYE YR 11 M8
10 0344-268-011-1 4L ASP(L)

11 0344-268-012-1 44U ASP(R)

12 V211-160-802-5 IN 4K WMP) M8X25
13 1122-725-012-0 UtyhMm8s)

14 V411-260-008-0 eI 8

_24_

— BB NN N — = = =

N NN =



6. —JOR3F LK AR (ZD2) (XG555LDM)

Vi s HBmaI—F BB am B #h Bk B = Nk A
1 0344-268-200-1:29 337944LF A(L)COMP 1
2 0344-268-210-1:29 337944LF A(R)YCOMP 1
3 V211-361-002-5 N8R ILMSP) M10X25 4
4 V362-260-010-0 I BTN RYEFYb 1¥2 M10 4
5 0344-268-011-1 4%UN ASP(L) 1
6 0344-268-012-1 41UN ASP(R) 1
7 V211-160-802-5 A4 WP) M8X25 2
8 V411-260-008-0 IESIR S 8 2
9 1122-725-012-0 Utykms) 2
10 V271-160-802-0 FA7H Wb 291 M8X20 2

_25_



1. ETEERREDT)

7E Hama—k BB fm A E % g & INFEEL
1 0353-310-200-1 :08 4354% COMP 2

2 0354-310-011-0 7°1(25X28X30) 4

3 0354-310-015-0 1374 TV V(177) 2

4 3768-361-029-0 A-4%" Y-k A0 % 20

5 0339-315-012-0 FR'ILMM10X1.25X20) 20 9T
6 0354-310-300-0 : F99E-7(150)ASSY 8

7 0354-310-310-0 A—7(150X142)COMP 8

8 0354-310-301-0 Yy 7Mb7v9E-7) 8

9 0560-310-012-0 A= 16
10 V600-110-620-4 RB.B 6204 16

11 V704-140-020-0 Chab I Y) 20 16

12 0354-310-021-1 AN —=(NTV/16) 16

>HE6IE. FET~FB12258T,

_26_



1. ETRERR(ZD2)

1o

f"E B ama—Fk BB fm A 5 EE g = Nk K]
1 0354-330-300-0 :28 74N IO—5(150)ASSY 2

2 0354-310-310-0 A—7(150X142)COMP 2

3 0354-330-301-0 Ve IMTAN VE—-7) 2

4 0560-310-012-0 TAW—l 4

5 V600-110-620-4 RBB 6204 4

6 V704-140-020-0 Chab A ™)) 20 4

7 0354-310-021-1 Y AMIN=(NTV/16) 4

8 3768-361-029-0 A-4% Y- Y04 4

9 0339-315-012-0 Fik JLMM10X1.25X20) 4 9T
10 0353-340-200-0 :28 74F37AY(L)YCOMP 1

11 0353-340-210-0:28 74+70YF(R)ICOMP 1

12 0354-340-011-1 TUYAVK Vb 2

13 V303-260-016-0 my SN M16 2

14 0354-340-223-0:28 F5997L—Lhn- 2

15 V201-260-807-5 ) T M8X75 8

16 V411-260-008-0 LW 8 16

17 V401-160-008-0 SW 8 8

18 V340-160-008-0 79049k M8 8

19 0353-350-200-0 /R—-3T200X39X72 2

20 0353-351-200-0 HR—-3T250X39X72 2 OPT

>HEIX. FR2~FBTEET.

_27_



8. TR (EDT)
®—7
®—5
S—6
CD,
&3
&— 6
S
S 7

"E EH&ma—Fk B mA EE B & INFEE

1 0386-414-200-0 I U(GB181LN)ASSY 1

2 0386-422-200-0 :28 IV yA'—R(555M)COMP 1

3 0661-220-011-0 #'7Yv3 L(60) 4

4 0661-173-013-0 Jyv (12 X 40 X 03) 4

5 V401-260-012-0 S.W 12 8

6 V411-260-012-0 IELWIEd 12 6

7 V304-260-012-0 my) 5 ] M12 8

8 V201-260-804-0 ) R TN M8X40 4

9 8935-056-025-0 1J49(20) 4

10 0664-411-012-0 777 F9MM8) M8 4 7T

_28_



8. TV R (ZEMD2)

Vs BB —F BB Fh Bk 5 & /N5E B
1 1122-455-220-0 MYR{yFASSY 1
2 0386-410-260-0 Aby7 31—} (555)ASSY 1
3 0354-412-013-0 r=7" W (F3-4/41) 1
4 0376-625-011-0 ADYMLLN— 1
5 1115-410-011-2 k=7 L2809k 1
6 V411-260-006-0 IESWIES 6 2
7 V120-266-001-6 7IAFAIRY(S) M6X16 2
8 3536-142-006-1 N4x-b 0ty 1
9 V710-140-005-0 EN4bAD 5 1

_29_



8. T 8% (FM3-1) OPT(XG555M+-DM)
— 1

75 H&ma—k B mA EE g = /NSEEE
1 0386-412-200-0 GB181+JL(555M)SET 1 OPT

2 0354-412-011-1 1YY (GB181L%L) 1

3 0386-412-210-0 EA"—A(553GB)COMP 1

4 0437-420-011-0 :28 K'HYva L40 4

5 V363-260-008-0 YL ST SES DN 291 M8 8

6 3746-621-019-0 bVZ YRV 1

SEHEIE., (FD-1DFBE2~(ZFDI-)EEL,

_30_



8.

TV B%R (FD3-2) OPT(XG555M DM)1/2

fqE Hma—k B R Fh B 5 = /N5T B
1 0386-412-220-1 :28 N'y7)%4(553)COMP 1 OPT
2 V211-160-802-0 ) T AN () M8X20 3

3 V363-260-008-0 INEYINFYEFYR 21 M8 5

4 0343-430-015-0:28 NYTYAHI 1

5 0347-421-011-0 NYFVAHIT A 1

6 0630-430-012-0 7°5R1)—F+2(1200) 1

7 0354-412-017-0 7—A—k+t(1450) 1

8 3536-142-006-1 D4 x-trnty 1 RF-140
9 0325-503-004-1 e’ —paq 3 RF-250
10 0384-420-015-0 IJe’~}44(200) 1 CV-200A
11 0354-412-420-0 AMYa-F(655tI)ASSY 1

12 0354-412-014-0 :28 tLA(YFAT— 1

13 0354-412-410-0 :28 A4yFAT—M)Y4rCOMP 1

14 0354-412-015-0 ININRG=4E"4Y) 1

15 0550-611-220-0 JL—(ACA1214)SET 1

16 0337-428-210-0 7°9Yak 4V A1y FASSY 1

17 P115-630-013-0 F723%°(M6 X 16) 1

18 V360-260-006—-0 VS LY VES W] 191 M6 3

19 0354-412-230-0 :28 SWAT—(653)COMP 1

20 V210-360-602-0 K ILMSP) M6X20 2

_31_



8.

TV B%R (FD3-2) OPT(XG555M+DM)2/2

gE Hma—k ERam A FR EES 5 & /NSEEA i
21 0354-422-230-0 2YFRLYFCOMP 1
22 V111-153-001-6 7IAFA IRY M3X16 2
23 V401-150-003-0 SW 3 2
24 V411-250-003-0 IED WIS 3 2
25 3642-496-007-1 A9FrAM4 1
26 0337-417-015-0 Je'—144(80) 1
27 0453-455-011-2 N'YT34A(G) 34A19R 1
28 0354-412-016-0 VAPSING) 1

_32_



8. TR (FM4-1)OPT(XG555LDM)

f"E Ema—Fk BB 4 R EE B = INFEE
1 0386-413-500-0 GB181%JL(555LDM)SET 1 OPT

2 0354-412-011-1 Iv9°V(GB181LEIL) 1

3 0386-412-210-0:28 EA—A(553GB)COMP 1

4 0437-420-011-0 Y WN: (] 4

5 V363-260-008-0 INAYIN RYEFYR 291 M8 8

6 3746-621-019-0 bVZ YRV M8X40 1

SEHEIE., (FDA-1)FB2~(FD4-2)FEL,

_33_



8.

IOV B% (FD4A-2)OPT (XG555LDM) 1/2

"qE HBEmaI—F Hman Ik 5 & /NFEE
1 0353-422-200-0 :28 M"Y COMP 1 OPT
2 V201-260-802-0 my T AN M8X20 3
3 V363-260-008-0 Ry KD SNWSES D] 291 M8 7
4 0343-430-015-0:28 NYTFYAHI 1
5 0347-421-011-0 NYTYAYIT L 1
6 0354-422-013-0 VEYUR S V) 1
7 0354-412-017-0 7—RY)—Ft(1450) 1
8 3536-142-006-1 D4X-bTY RF-140 1
9 0325-503-004-1 e —ha4 RF-250 3
10 0384-420-015-0 IJ£'—~+44(200) CV-200A 1
11 0354-412-420-0 AMy31—-kF (655t L)ASSY 1
12 0354-412-014-0:28 TIA{YFAT— 1
13 0354-412-410-0 :28 A{yFAT—M)Y7COMP 1
14 0354-412-015-0 INI(RI—-4F4Y) 1
15 0550-611-220-0 IJL—(ACA1214)SET 1
16 0337-428-210-0 7Yk 4y A1y FASSY 1
17 P115-630-013-0 F5A3%Y°(M6 X 16) 1
18 V360-260-006-0 FINFYEFFIR 3
19 0354-412-230-0 :28 SWAT—(653)COMP 1
20 V210-360-602-0 # IVMSP) M6X20 2

_34_



8. T %R (FM4-2)OPT(XG555LDM)2/2

AN RTA v

5c B fff

I

5 =

B2k

0 i B 15

JFA{YFCOMP

7IATA IRY
SW

OPT

U:
N

21 0354-422-230-0
22 V111-153-001-6
23 V401-150-003-0
24 V411-250-003-0
25 3642-496-007-1
26 0337-417-015-0
27 0453-454-011-1

N AN AN

M3X16

LELES
AT

~
<
N

E'—h44(80)
NYTY34ACY)

ynAyNe)

28 0354-412-016-0

_35_



9. EEEAZR(ZNI)

i e 11T = T k=R (R 5 & UASL=Xii
1 0386-510-270-0 :28 A'JLkAMYN(F)COMP 1
2 0386-510-280-0:28 A'ALFRMN'(RICOMP 1
3 V211-360-801-6  IN"4H LNSP) M8X16 2
4 0386-510-015-0:28 E7'—)(XG555) 1
1

0353-510-012-0 19~ IWMSB30HP4)
0347-510-012-0 19~ IWMSB32HP4)

5 3746-621-019-0 VYR DV

6 V401-160-008-0 SW 8

7 V201-460-802-0 N R b M8X20 9T

8 W405B05X035 - 5X5X35 IVY VR
9

0

—_ e -

—_

_36_



9. EERR(ZN2)

7E Hga—K

0 & A 15

/|NFE Bl

[e ol N e ) Gl b wnN =

0386-510-250-2
0386-510-220-1

8935-008-014-0
8935-004-026-0
V704-140-015-0

0450-502-012-0
1305-241-001-0
8935-005-031-0

:28 TU¥3x(125)COMP

:28 TU¥3¥(110)COMP
FUhI7-LYTUF
VS IVEVIED!
Ch4rACY)
B39FLIN-YTY
RNADAT-EY
Hin'-sp

15

_37_

N — — NN DN = —



9. (RERAR(ZD3)

G e A =111 e B 2 75 B2 E % /N5 B fifh
1 0386-510-230-0:28 M7'-J(XG551)COMP 1
2 3731-521-006-0 Z1mYIYH%- 1
3 8935-001-062-0  AL¥h'# 2
4 V401-160-010-0  SW 10 1
5 V300-260-010-0  FYh M10 1
6 0386-510-240-1:28 A'LMIN—~(7Y4)COMP 1
7 V211-360-802-0 14K ILN(SP) M8X20 1
8 V201-261-002-5  Jh'4i bk M10X25 1
9 V363-260-010-0  IW'4¥INAYFFU M10 1

_38_



9. IERH % (FMD4)(XG555DM - LDM)

4
h é 5
\@%@
i BRI —k L TEE 1B 2% 5 & /N5 B i
1 V811-000-015-0 VA' Lk A-15 1
2 0386-520-210-0:28 P7°—JCOMP 1
3 0325-501-006-0 1),%9(10) 1
4 V401-160-010-0 SW 10 1
5 V201-261-001-6 ) T M10X16 1

_39_



10. 7YV FEZR (ZdD1)(XG555DM)

_40_

/4 ,;,‘,
("’l"
\‘ﬁ”s(" :
10
f"E Hama—F Hmain Bk B & Nk A
1 0344-530-200-0 179K V7 H130R 1
2 V211-360-802-0 a0 4R WMSP) M8X20 4
3 0386-530-210-2 :28 17YLn'—(555D)COMP 1
4 3640-585-001-0 —¥({z1n-) 1
5 V201-261-002-0 myE T AN M10X20 1
6 V401-160-010-0 SW 10 1
7 0412-205-009-0 90° Tk 2
8 0551-530-013-0 #—2(1600) 2
9 0325-503-004-1 -k RF-250 1
10 3536-142-006-1 DAX-bATY RF-140 2



10. 7YV FBE%R (ZdD2)(XG555DM)

8
9

S

@

8

D—10

’

>EHEB1E. FE2LF S 16&ahERARAENER,
SHE2L. FE3~6.8~15%51),
>HEIX. FE8~122ET,

_41_

14
15

=

——3

N—

9
"qE Ema—Fk HmB =k & = /NFE B
1 0347-530-400-0 Y4’ (155-300)BPASSY 1 90° INK2{E{+E
2 0347-530-300-2 :28 Y4 (155-300)ASSY 1
3 0315-303-240-1 N8 47 COMP 1
4 0347-530-301-1 AYvh(294) 1
5 0315-303-222-0 AYN AN - 1
6 0315-303-223-1 E'AbY 1
7 0315-303-290-0 Y—ISET 1
8 0315-303-224-0 S AM-I35 1
9 0315-303-225-0 Unvy4v35 1
10 V721-103-105-8 oNvy G58 1
11 V720-102-402-0 oNvy P20 1
12 0315-303-226-0 un'v%v63 2
13 0433-025-013-0 AYHITTIEM 2V 1
14 V411-260-016-0 IWEYN 2 16 1 7T
15 V330-460-016-0 ForGEYX) M16X1.5 1
16 0412-205-009-0 90 IV 2
17 0344-530-014-0 N mybEy 1
18 0344-530-013-0 NoFAYNEY 1
19 V411-260-020-0 IED IR 20 4
20 V500-165-003-0 ey 5X30 4



10. 27UV FB%R (Zd3)(XG555LDM)

7E Hama—k R a4 Fh EE g % INFEE
1 0344-530-200-0 179 V7' H130R 1
2 V211-360-802-0 Ih 4R IWMSP) M8X20 4
3 0386-531-200-0 :28 17YnUKIL(555LD)COMP 1
4 3640-585-001-0 £ zn-) 1
5 V201-261-002-0 my KT M10X20 1
6 V401-160-010-0 SW 10 1
7 0412-205-009-0 90° TV 1
8 0453-531-012-0 90T (AVY") 1
9 0551-530-013-0 £—2(1600) 2
10 3536-142-006-1 D4Y-br0TYy RF-140 2
11 0384-420-015-0 JE*—F41(200) RF-200 1
12 0325-503-004-1 Je-raq RF-250 1

_42_



10. A7V FB&R (£ MD4)(XG555LDM)

—S
&

—8

14
15
=
———3
N
%

"E Ema—k AT Bk B & INFEE
1 0347-530-400-0 Y4°(155-300)BPASSY 1 90° INK2{E{+E
2 0347-530-300-2 :28 %YU4'(155-300)ASSY 1
3 0315-303-240-1 VU8 47°COMP 1
4 0347-530-301-1 Ay (294) 1
5 0315-303-222-0 AYN AN - 1
6 0315-303-223-1 E AR 1
7 0315-303-290-0 Y—ILSET 1
8 0315-303-224-0 421135 1
9 0315-303-225-0 Unvy4v35 1
10 V721-103-105-8 oNvy G58 1
11 V720-102-402-0 oy P20 1
12 0315-303-226-0 Unv%v63 2
13 0433-025-013-0 AYhITTIEMRY 1
14 V411-260-016-0 IED IR 16 1
15 V330-460-016-0 ForGEYX) M16X1.5 1 7T
16 0412-205-009-0 90 L)Lk 2
17 0315-303-002-0 YN YTUE Y 1
18 V201-461-003-0 ) T A M10X30 1 9T
19 V304-260-010-0 Ina+ub 291 M10 1
20 0344-530-013-0 NN AYNEY 1
21 V411-260-020-0 WA A 20 2
22 V500-165-003-0 ey 5X30 2

>EHEB1E. FE2LF S 162 ahERARAENER,
SHE2L. FE3~6.8~15%51),
>HEIX. FE8~1228T,

_43_



10. 7YV FBZR(FZF D5)(XG555L.DM)

7E Hama—k R a4 Fh EE g % INFEE
1 0353-531-011-0 J7r74%(511) 1
2 V301-260-005-0 +9b 291 M5 2
3 0375-535-014-0 F1-7°(7X100) 1
4 1115-422-012-0 JE"—}424(100) RF-100 1
5 0325-503-004-1 e-rq RF-250 1
6 0353-531-230-0:29 UDLA'—(511)COMP 1
7 W542-260-601-6 77K 4y M6X16 2
8 V361-260-006-0 HIN2YEFIb 291 M6 2
9 3517-105-004-0 Linv-=%") 1
10 4301-210-002-0 B AAK W6X16(BTHY) 2
11 0375-535-250-0 :29 LN —(9I)COMP 1
12 V200-260-601-6 EgAN M6X16 1
13 V300-200-006-0 FYk M6 1
14 4207-410-371-0 IV —1S7(1010) 1
15 3536-142-006-1 D4¥-bAhTy RF-140 1

_44_



1. B1E-HN—BFR(EFD1)AIN N

ER dn % Fh Bk INFEE
1 0386-610-500-0 :28 NV} IL(555M)COMP 1
2 0386-610-230-2 979Fh 4N 7°'L—FCOMP 1
3 0771-441-013-0 F7R3%Y(M6X14) 2
4 0386-610-011-0 N AFYR AR VY T=3 1
5 V211-361-002-5 IR 4R ILMSP) M10X25 2
6 2100-410-007-2 FIAD)T—LAMIN 2
7 V200-261-214-5 iR ILb M12X145 1
8 V200-261-210-5 iR ILb M12X105 1
9 V411-260-012-0 IED IR 12 4
10 V303-260-012-0 Inaub M12 4

_45_



1. 45 -HhN\—B&R (ED2) Y4 979F

f"E Hma—k R a4 Fh EE B & INFEE
1 0386-620-200-0 :28 #4F%5YF(L)COMP 1
2 0386-620-210-0:28 #M}F4759F(R)ICOMP 1
3 0354-624-013-0 LiN=YTY 1
4 V411-260-012-0 eI 12 2
5 1305-241-001-0 FANAYAT-EY 2
6 0366-252-012-1 797’ 2
7 0354-624-230-0 :28 %39YF7—L(L)COMP 1
8 0354-624-240-1:28 439F7—L(R)COMP 1
9 0354-624-250-3:28 TUYIAULN—YTYCOMP 1
10 0354-624-016-1 H39FLN - 1
11 2101-230-001-0 ) 1
12 V411-260-010-0 INEYN R 10 3
13 V500-162-502-0 ey 2.5X20 1
14 0353-623-011-0 H39FaYE 2
15 0342-623-012-0 939FaYR7L—F 19X4.5 2
16 V304-260-010-0 In AUk 291 M10 4
17 8935-009-013-0 D4 7993A9AT-£Y 2
18 1337-401-006-0 HMIYFVFRT VY 2
19 0353-623-220-1:28 7'L—%L/N"—COMP 1
20 1111-410-013-0 —£(TFh-10) 1

_46_



11 8- DA—FREDI) Froy b -

75 Hma—k EmA T Bk g INFEE
1 0386-621-210-1 FIY' LN —COMP 1
2 0670-761-011-1 LN ==£")(5")-) 1
3 0386-621-011-0 FIvy Ay 1
4 V304-260-008-0 :1:“5«7“%8 21 M8 1
5 0761-310-016-0 oy =) 1
6 0761-310-017-0 o =(R) 1
7 3900-540-016-0 IN4FYMLMS) 1
8 V362-260-008-0 INAHINRYEFYE 191 M8 2
9 4203-530-024-0 Ty 4(8X28X4.5) 1

_47_



1. B1E-HN\—BFZREDLH) TN

6
7 5
7
7E Hama—k R a4 Fh &%k g % INFEE
1 0354-623-200-1:28 YT COMP 1
2 V211-360-802-0 Ih 4R WMSP) M8X20 2
3 0354-623-210-2 :28 TYFIUYTYCOMP 1
4 0354-623-220-0 :08 T YFIUNYFNILCOMP 1
5 8935-009-013-0 D4¥7Y9AIAT-£"Y 3
6 V411-260-010-0 IWEYH 2 10 3
7 V720-101-901-0 oyvy P10 6

_48_



1. B1E-HN\—BFZREDST-7 I

e A =11 e B an 44 F5 B2 B % /N e B A
1 0343-625-011-2  #=7WH4F9797) 2
2 VA411-260-008-0  IN¥¥h'% 8 3
3 8935-009-013-0  T4Y7YJAVAT-LY 3
4 0343-625-012-0  R7"vY'(HE085) 3
5 3536-111-008-0 RN A% 2
6 3536-142-006-1 DAY-pinty 1
7 0386-625-011-0  7=7W(7'L—%) 1

_49_



11. 845 H/\—B81% (£ ?D6)(XG555M)

_50_

G e A =111 e 0 i 2 75 B2k iE *= UASL-Xii]
1 0386-630-210-1:28 A'LMIN—COMP 1
2 3913-523-012-0 AR VIMEX12(R7HY) M6X12 6
3 0386-630-011-0:28 A'LMIN—(J¥/7yn) 1
4 0353-630-011-0 T ARA'—#60 1
5 0386-635-011-0:28 7yMin'— 1
6 V211-360-801-6 N4k ILNSP) M8X16 4



11. 845 -H/\—E81&% (£ D7) (XG555DM)

G e - - = i & & A 15 &% iE #& /N5 B fff

0386-631-210-0 :28 A"JLMIN'—(D)COMP
3913-523-012-0 T LRR IVEMEX12(AYHY) M6X12
0250-310-013-0 = WA(N))

0386-630-011-0 :28 A JLMIN=()¥/Tyn’)
0353-630-011-0 TLAN-%60

0386-635-011-0 :28 7yMin'—
V211-360-801-6 N 4K IVMSP) M8X16

~N o Gl WN =
B e o) =

_51_



1. 3845 -W/\—B1& (FD8) A LM — (XG555LDM)

G e =111 e 0 in 2 15 Bz iE #= /NS B i
1 0386-632-200-0:28 A’ JLMIN—(555LD)COMP 1
2 3913-523-012-0 LA LIM6EX12(RTH%) M6X12 6
3 0250-310-013-0 h' 4+ 37 L(60) 1
4 0386-630-011-0:28 A JLMN=(J¥/Tyn) 1
5 0353-630-011-0 TLAAN-#60 1
6 0386-635-011-0:28 7yMin'— 1
7 V211-360-801-6 04K IWMSP) M8X16 4

_52_



1. 845 -HN\—BZR (FD) N Tyt

G e A =111 e B i 2 F5 B2 E % /N5 B fifh
1 0337-640-021-0  N'AHYNE) 1
2 0337-640-015-1 AN 1
3 0337-640-200-0  NAFyMMYHHFIICOMP 1
4 0710-710-015-0  7/aFYNM5)7A0 4
5 V401-170-005-0  SW 5 4
6 0386-615-011-0 N RHyAT— 1
7 V210-360-601-6  HLM(SP) M6X16 2

_53_



12. —FE{ZROPT (FM1)(XG555M)

23
Al

Ema—k

B i A 15

INFEE

- —
S RGeS DO®WOou NN =

—_ -
~N o

0386—650—-200-1
0630-780-300-0
0353-650-200-1
0353-650-210-1
0354-652-210-0

0386—650-011-0
0386—650-012-0
0353-654-220-0
0353-655-210-0
0353-654-230-0

V362-260-010-0
V211-361-002-5
V200-251-016-0
V411-260-010-0
V211-361-003-0

V362-260-008-0
0386-650-201-1

¥—M553+555)SET
Y¥—FCOMP

Y—FAT—(XG600)COMP
ATY7(XG600)COMP
Y=Y A—ACOMP
Y=Y A’™=2553(L)
Y—Fr)9rA=2553(R)
FykA'=Z(511)COMP

»I{M18.5)COMP
HI{M17.1)COMP

NIV FYEFb
048 WMSP)
/A

ELWIEd

N4 IWMSP)

INBYIN RYEFYR

939437137(553-555)

1¥21 M10
M10X25

M10X160

10
M10X30

11 M8

>EHEE. FB2~112E T,

_54_



12.

—rBE{ROPT (£ M2)(XG555DM)

f"E EH&ma—Fk B mA EE & INFEE
1 0386-651-200-1 Y—M553D-555D)SET 1 OPT
2 0630-780-300-0 Y—FCOMP 1

3 0353-650-200-1:28 Y—FAT—(XG600)COMP 1

4 0353-650-210-1:28 AT97(XG600)COMP 1

5 0354-652-210-0 :28 Y—F)YrA™—ACOMP 1

6 0386-650-011-1:28 Y—FJYrA—2553(L) 1

7 0386-650-012-1:28 Y—IMJYrA'—2553(R) 1

8 0353-654-220-0 :28 F+ykA'—Z(511)COMP 2

9 0353-655-210-0 :28 MI{}M18.5COMP 2

10 V362-260-010-0 INGYIN RYEFyb 11 M10 3

11 V211-361-002-5 N4 WI(SP) M10X25 14

12 V200-251-016-0 RIb M10X160 1

13 V411-260-010-0 IELWIEd 10 1

14 V211-361-003-0 I8 4K IWMSP) M10X30 4

15 V362-260-008-0 INEYIN RYEFYR 191 M8 2

16 0386-651-201-0 $394371)37(553D) 1

>EHEE,. FB2~16%E T,

_55_



12. —FEE&R (FMD3) OPT(XG555LDM)
8

"qE Hma—k HmBn =k & /NFE B
1 0386-653-200-0 &—M555LD)SET 1 OPT
2 0630-780-300-0 Y—FCOMP 1

3 0353-650-200-1:28 Y—FAT—(XG600)COMP 1

4 0353-650-210-1:28 AT97(XG600)COMP 1

5 0354-652-210-0 :28 Y—F)Y5A—ACOMP 1

6 0386-650-011-1:28 Y—FJYraA'—2553(L) 1

7 0386-650-012-1:28 Y—FJYrA'—2553(R) 1

8 0353-654-220-0:28 F+ykA'—A(511)COMP 2

9 0353-654-230-0:28 “I{N17.1)COMP 2

10 V362-260-010-0 INAYINRYEF R 12 M10 3

11 V211-361-002-5 IN 4R IWMSP) M10X25 14

12 V200-251-016-0 AN M10X160 1

13 V411-260-010-0 WA 10 1

14 V211-361-003-0 IN 4K IWMSP) M10X30 4

15 V362-260-008-0 INAYINRYEFYE 11 M8 2

16 0386-653-011-0 9394379Y37(555LD) 1

_56_



13. ¥—VBEZR(ZMD1)1/2

EB&maI—F

0 in 2 15

Bk

5 #=

1INST B fiff

o~
>
oo o oo o - o j}?

0386-911-021-0
0386-910-012-0
0386-910-013-0
0386-910-014-0
0386-910-015-0

0386-910-016-0
0386-910-017-0
0386-910-019-0
0386-910-032-0
0386-910-033-0

0386-910-021-0
0386-910-022-0
0386-910-051-0
0354-910-017-0
0312-910-018-0

0351-910-013-0
0337-934-015-2
0337-910-015-0
0311-913-011-0
0374-910-015-0

$1v-9(XG555)
I3 /T4)
FAL(YY3/39)
INVT L)

FA IV RIL)
INWFIVY /TA)
INIWFIVY /A7)
FINIYA9T9F)
IAIL(XG5H55/L)
FAIL(XG555/R)

FINWETIHAE /L)
FNWETIHAE/R)
FINW(AUTTYR555M)
345 Uv—-9(550)
S IV )

7ot yv=h
FINWTTYIR/25X75)
TTYIAI=G(EI4P)
a7v)I%3-4
A7VIIHFIVAI-Y

_57_

—_ e e —_— e ) —_ et )

—_ ek el )

XG555DM-LDME
XG555DM-LDME




13. ¥— VB &R (EMD1)2/2

% () [)
| 18
33
L —14
% ) ) !
x
33
f o7
23
9 A
- / ﬂgﬂ
24
25 s
{— e e — o7
—— 21 29—l
l 16
15
1
"qE EB&maI—F HaB Bk & = /NFE B
21 0354-910-028-0 IN MY 1
22 0453-916-011-0 INVEEY /ANy 1
23 0453-910-021-0 INIEFry/Oh%) 1
24 0438-910-024-0 INIWEEY/FA97Y) 1
25 0453-910-022-0 INNVErY/Z8°1) 1
26 0453-910-024-0 INWITA3Y/1I0YY) 1
27 0453-910-028-1 IN 439 /9340Y) 1
28 0329-910-034-0 INWETA3Y/T=hATY) 1
29 0453-910-027-0 FNIF294/M)EY) 1
30 0337-929-021-0 INNVFIA/I0TIEUD)S 1
31 0353-913-011-0 XUhIv-H 1 XG555LDMELFA
32 0344-912-016-0 DIV L K&y 1 XG555LDMELF
33 0386-911-022-0 IA" (Y 7+/500) 2 XG555LDME

_58_




14. it mBE &k

i es EEmI—F HmA B B = IN5E B il
1 0386-940-051-0 M)ty (XG555M-655M) 1
2 0360-302-004-0 b7990-7 A9 Lk 1
3 V767-400-000-0 PYAZYT W A-M6F 1
4 0771-960-011-0 EELVAT I 1
5 0772-950-015-3 £373(hY=vEIE) 1

_59_



15. H—E RBR(Z D) ELEFEE &M

fHE HBma—F BRmAH E%k B = ALK
1 0337-110-500-1 7°L—%(62)ASSY 1 P5

2 0337-110-051-1 AL S 1 P5

3 0353-350-200-0 /R—3T200X39X72 2 P27

4 0353-510-012-0 319°~A" WMSB30HP4) 1 P37 EnEfl

5 0347-510-012-0 19N WNSB32HP4) 1 P37 {E:&EfA

6 V811-000-015-0 VAL A-15 1 P40 DM-LDMZE!ZEF
7 1115-410-011-2 F=7"1L.A0Y kb 1 P29

8 0354-412-013-0 h=7" W(Fa-9/1l) 1 P30

9 0343-625-011-1 =7 WA 979F) 2 P50

10 0386-625-011-0 =7 7% 1 P50

11 KAO01108AA003 M=FIVIsb 1 ZEAMFIODY
12 KE41022AD AN=H73Y BP6HS 1 ZBAFIODY
13 KE41002BA AN=H759 BPR4HS 1 ZBAMFIODY

>EFE11. [ZOPTHILH,

_60_



15. H—E XBR(ZD2)R7 L-EH

1 2 3
A L-(BR473) A7 b=GAMY-Y) A7° b= (A= =Ly b))
7B Haa—Fk IR EES " & INTE B
1 1300-977-002-0 A7 L—(BE4T) 1 245
2 1300-972-004-0 A7 L=GAM)=Y) 1 34MY)=y
3 1300-973-001-0 A7 L—(R=n"—=Lyh) 1 2=n—=Lyb

_61_



_62_

15. H—E XE{ZR(Z D 3)OPTE R K]

¥61Y¥E
(HY¥Z-AZ))
fiLh M
= O
$35Ydd
§-x1 4L - Eﬂ
_ N w
(B [ 5113) -1 1£6L4 ?5 - = m W
) ~1(£4E TE=E
i T EH
B |
o [
i
S E
w ¥
o o 00
@mé@&.:«mm% -
_ [5¥
O0—+0+0 LY1S 1 < =12
oo m_% .JEm Yoz Xt 37181894 ACTANG U=
Lo~ )
STIvaTSEat 3 AN
Py _ V0l .¥-13
: =




	◎表紙001
	◎目次001(23.02更新)
	◎目次002(23.02更新)
	XG555LDM-001
	XG555LDM-002
	XG555LDM-003
	XG555LDM-004
	XG555LDM-005
	XG555LDM-006
	XG555LDM-007
	XG555LDM-008
	XG555LDM-009
	XG555LDM-010
	XG555LDM-011
	XG555LDM-012
	XG555LDM-013
	XG555LDM-014
	XG555LDM-015
	XG555LDM-016
	XG555LDM-017
	XG555LDM-018
	XG555LDM-019
	XG555LDM-020
	XG555LDM-021
	XG555LDM-022
	XG555LDM-023
	XG555LDM-024
	XG555LDM-025
	XG555LDM-026
	XG555LDM-027
	XG555LDM-028
	XG555LDM-029
	XG555LDM-030
	XG555LDM-031
	XG555LDM-032
	XG555LDM-033
	XG555LDM-034
	XG555LDM-035
	XG555LDM-036
	XG555LDM-037
	XG555LDM-038
	XG555LDM-039
	XG555LDM-040
	XG555LDM-041
	XG555LDM-042
	XG555LDM-043
	XG555LDM-044
	XG555LDM-045
	XG555LDM-046
	XG555LDM-047
	XG555LDM-048
	XG555LDM-049
	XG555LDM-050
	XG555LDM-051
	XG555LDM-052
	XG555LDM-053
	XG555LDM-054
	XG555LDM-055
	XG555LDM-056
	XG555LDM-057
	XG555LDM-058
	XG555LDM-059
	XG555LDM-060
	XG555LDM-061
	XG555LDM-062

